Logical Reasoning Questions for BBA Entrance
Exam

1. Which word does not belong with the others?
-a) Apple
- b) Banana
- ¢) Grape
- d) Carrot
- Answer: d) Carrot

2. Find the odd one out:
- a) Dog
- b) Cat
- ¢) Rabbit
- d) Elephant
- Answer: d) Elephant

3. Which number should come next in the series? 2, 4, 8, 16,
-a) 20
- b) 32
-c) 64
-d) 128
- Answer: b) 32

4. Which letter is as far from D as Q is from J?
-a)L
-b) M
-c)N
-d) O
- Answer: c) N

5. If A is the sister of B, B is the brother of C, and C is the son of D, how is D related to A?
- a) Mother
- b) Father
- ¢) Grandmother
- d) Grandfather
- Answer: b) Father

6. Find the next number in the series: 1,1,2,3,5,8,
-a) !
-b) 13



-c) 15
-d) 17
- Answer: b) 13

7. Which of the following is the same as kind, benevolent, and humane?
- a) Unkind
- b) Cruel
- ¢) Compassionate
- d) Inconsiderate
- Answer: ¢) Compassionate

8. Pointing to a lady, a man said, "Her mother is the only daughter of my mother." How is the
man related to the lady?

- a) Father

- b) Grandfather

- ¢) Brother

- d) Husband

- Answer: a) Father

9. Choose a word which is different from the rest.
- a) Cabbage
- b) Carrot
- ¢) Potato
- d) Radish
- Answer: a) Cabbage

10. Find the missing term in the series: 3, 6, 11, 18,27,
-a) 38
-b) 40
-c)45
-d) 49
- Answer: c) 40

11. If the code for CAT is DBU, what is the code for DOG?
- a) EPH
- b) EPH
-c)EPJ
-d) EPF
- Answer: c) EPJ

12. In a certain code language, 'GREAT" is written as 'TARGH'. How is 'SMART" written in that
code?

- a) TRAMS

- b) TRAST



-c) TRASU
- d) TRASW
- Answer: a) TRAMS

13. Find the odd one out:
- a) Triangle
- b) Rectangle
- ¢) Circle
- d) Hexagon
- Answer: c) Circle

14. A man is facing north. He turns 45 degrees clockwise, then 180 degrees anti-clockwise.
Which direction is he now facing?

- a) North-east

- b) North-west

- ¢) South-east

- d) South-west

- Answer: b) North-west

15. Complete the series: Z, X, V, T,
-a)Q
-b)R
-¢c)S
-d)u
- Answer: c) S

16. Find the next term in the series: A1, B2, C3, D4,
-a)E5
-b) F6
-c)G7
-d)H8
- Answer: a) E5

17. If in a code language, 'BREAK' is written as 'PIVXQ', how is 'STOP' written in that code?
-a) OPQR
-b) OQPR
-¢) QPQR
-d) QPOR
- Answer: d) QPOR

18. Choose the pair that best represents a similar relationship to the given pair: KERNEL:
CORN

- a) Qil: Olive

- b) Seed: Sunflower



- ¢) Grain: Wheat
- d) Nugget: Gold
- Answer: b) Seed: Sunflower

19. Find the odd one out:
-a)24
- b) 36
-c) 54
-d) 72
- Answer: a) 24

20. Which one is the odd one out?
- a) Pear
- b) Apple
- ¢) Mango
- d) Carrot
- Answer: d) Carrot

21. Pointing to a photograph, a woman says, "This man's son is my son's uncle." How is the
woman related to the man in the photograph?

- a) Daughter

- b) Wife

- c) Sister

- d) Mother

- Answer: b) Wife

22. Find the next term in the series: 5, 12, 24,45,
-a)75
- b) 60
-c)72
-d) 65
- Answer: d) 72

23. If LONDON is written as MPOEPO, how is PARIS written in that code?
-a) QBSJT
- b) OBQJQ
- ¢) RCTKT
-d) ZBUJU
- Answer: a) QBSJT

24. Find the odd one out:
- a) March
- b) January
- c) June



- d) October
- Answer: c) June

25. A is the mother of B, B is the son of C, and D is the father of C. How is A related to D?
- a) Wife
- b) Daughter
- ¢) Sister
- d) Mother
- Answer: a) Wife

26. If the code for "TRAIN" is "URJBO," what is the code for "PLANE"?
- a) QMBOF
- b) QKBOF
- ¢) QKCOF
- d) QMCOE
- Answer: b) QKBOF

27. Find the missing term: 2, 6, 12, 20,
-a)30
-b) 32
-c) 36
-d) 38
- Answer: a) 30

28. Find the odd one out:
-a) Sun
- b) Moon
- ¢) Planet
- d) Star
- Answer: c) Planet

29. Complete the series: 3, 8, 15,24,
-a)35
-b) 36
-c) 37
-d) 38
- Answer: a) 35

30. Which number is different from the rest?
-a)9
-b) 15
-c) 21
-d) 25
- Answer: d) 25



